
Q1
Solve the following:



a)
4x = 20

b)
2x = -18

c)
7x = 28



d)
x + 3 = 11

e)
x + 19 = 23

f)
x – 6 = 13



g)
x / 2 = 22

h)
x / 5 = 8

i)
x / 7 = 3



j)
2x + 1 = 7

k)
7x + 5 = 54

l)
3x – 2 = 19

Q2
When eight is subtracted from a number the result is 32.

a) Write this information as an equation

b) Solve your equation to find the number.

Q3
A girl spent t minutes on her chemistry homework.  She spent twice as long on her Maths homework and her English homework took 15 minutes longer than her Chemistry did.  If she spent a total of 95 minutes working, find the value of t.

Q4
Solve the following:



a)
3x – 4 = 2x + 4


b)
23 – x = x + 11



c)
8x + 7 = 6x – 9


d)
3(x +1) = 9



e)
2(x –3) – (x – 2) = 5

f)
5x – 2 = ½ x + 7



g)
3(7 – 2x) = 2(5 – 4x)

h)
4(3x + 2) + 3 = 3(2x – 5) + 2

Q5
Joan, Kate and Linda win £2400 between them on the National Lottery.  Joan gets a share of £x, whilst Kate gets twice as much as Joan.  Linda’s share is £232 less than Joan’s amount.

a) Write down an expression for the amounts Joan, Kate and Linda win.

b) Write down an equation in x, and solve it.

c) Write down the amounts Kate and Linda receive.

Exam style questions
Q6
Solve the equations
a)
4x + 2 = 26





(2 marks)




b)
19 + 4y = 9 – y




(3 marks)

Q7
In a certain rectangle the length of each of the longer sides are 3 cm more than the shorter sides.  Let x cm denote the length of each of the shorter sides.

a) Write down, in terms of x, the length of each longer side.


(1 mark)

b) Write down, in terms of x, the perimeter of the rectangle.  Simplify your answer as far as possible.








(2 marks)

c) The perimeter of the rectangle is 32 cm.  Write down an equation in x.  Solve this equation to find the value of x.






(3 marks)


Q1
a)
x = 5

b)
x = -9
c)
x = 4


d)
x = 8

e)
x = 4

f)
x = 19


g)
x = 44
h)
x = 40
i)
x = 21


j)
x = 3

k)
x = 7

l)
x = 7

( ½ marks each, 6 marks) 

Q2
a)
x – 8 = 32


b)
x = 40






(1 mark each, 2 marks)

Q3
Chemistry = 
t
Maths = 

2t
English = 

t + 15


TOTAL = t + 2t + t + 15  = 4t + 15







4t + 15 = 95







        t = 20 mins



(3 marks)

Q4
a)
x = 8

b)
x = 6

c)
x = -8


d)
x = 2

e)
x = -9
f)
x = 10/9


g)
x = -5.5
h)
x = -4



( ½ mark each, 4 marks)

Q5
a)
Joan = £x

Kate = £2x

Linda = £x - £232














(2 marks)


b)
x + 2x + x – 232 = 2400




4x – 232 = 2400

  



x = £542






(3 marks)


c)
Kate = £1084



Linda = £310







(2 marks)

Exam style questions

Q6
a)
x = 6









(2 marks)


b)
x = -2








(3 marks)

Q7
a)
x +3 cm long







(1 mark)


b)
x + x + x +3 +x +3 = 4x + 6 = 2(2x + 3) cm


(2 marks)


c)
4x + 6 = 32
x = 6.5 cm





(3 marks)
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